[ Efficiency vs vertpos |

-
o
o
(]
>

[
>
>

0.5

0.45
0.4

0.95

UL L aL L LR R R LR LA RN RRRE RAAR RRRRR RRRLN LRRRN LRLR

-+ . -+

102 107 1

10 0?
TP vertr (cr%)

—=— DQM_mkFit_TToriginal

Efficiend —— pom_mkFit_TTNEWnoMS-genMatch-CUT

N
=
[
>
%
>
>

o
e
Q

ettici

Ratio

0.5
0.45
0.4
0.35
0.3
0.25
0.2
0.15
0.1
0.05
Vel

[y

o

13
oS
S

-20 -10 O 10 20 30
TP vert z (cm)

[ Efficiency vs. sim PV z |

N
>
o
E
2]

Y
>

lency

2
=
[}

Ratio

0.5
0.45
0.4
0.35
0.3
0.25
0.2
0.15
0.1
0.05]

0

.................................................

...............................................

.................................................

FRVS)

I
i
+

0.952

20 =15 -10 -

Sim. PV z (cm)



	Contents
	Page 1


